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(10 x 2) + 4
(256 x 2) + 5
(15 x 6) + 5
(20 x B8) = 10
(300 x B80) = 90
10 X (6 +— 3)

12 x (18 = 3)
10 % 182 = 2)
200 x (80 =+ 20)

20 x (860 =+ B80)

KL NONIS AN BN

I

I

I

lﬁ

oooCooooe

ASOWLANADNADY g
krooupdatedotcom




LUURN

ooooooooo oo *

L oW TN BENIFFOLANST |

L Yudsrnuanuendi 5

NTAU RITTEA
NAANANAANAANAAANAA_N/

)

ALY ¢ AIRINAANS

1. (15 x 8) = 5 =

2. (14 x 6) = 7

I

3. (30 x 3) = 9

4. (80 x 8) +~ 20

I

CLLLULEEEL

5. (200 x 10) =+ 20 =

I

6:. 20 X (6 +— 2)

7. 16 x (12 = 3)

I

& 20 x (65 =+ 95) =

9. MO x (380 = 10) =

10. 80 x (240 = 20)
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. (18 x 4) = 2 =

2. (15 x 6) + 9

I
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3. (30 x 4) <+ 6

4. (80 x 6) ~ 10

5. (800 x 10) =+ 80 =

I

6. 20 x (& = 4)

7. 25 x (15 + 8)

I

& 20 x (56 =+ 4) =

9. 820 x (850 =+ 295) =

10. 25 x (120 =+ 10)
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PIRWAAWS

(20 x 3) + 6
(14 x &) = 7
(18 x 6) + 9
(20 x &) = 10
(300 x 20) = 30
40 x (4 +— 4)
10 x (42 = 3)
34 x (24 + 0©6)
420 x (70 = 35)

25 x (440 =+ 40)
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1. (14 x 4) <+ 8

2. (16 x §5) <+ 5

3. (20 x 4) =+ 10
4. (15 x 4) = 30
5 (100 x 10) =+ 20
6. 28 x (& +— 8)

7. 80 x (40 = 6)
& 283 x (40 + 8)
9. 220 x (80 = 20)

10. 40 x (600 = 50)
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1. (40+05) + &

2. (66+2) + 5

3. (86 +2) + 6

4. (60 +10) + 2

5. (120 +20) + 20
6. (820 +2) = 20
7. 834 = (4 + 2)

& 45 + (15 =+ 95)
9. 120 + (40 + 20)

10. 80 = (100 =+ 20)
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ALY ¢ DIRINARIS

1. (80 =+ 5) + 2 =

2. (66 +2) + 4

I

I
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3. (80 +95) + 4

4. (90 +10) + 3

5. (180 + 60) + 20 =

I

6. (420 +3) = 20

t. 46 + (6 + 3) =
8 30 + (20 + 4) =
9. 540 + (90 + 30) =
10. 72 = (120 + 30) =
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(60 =+ B) + 2
(80 +8) = 5
(80 +4) + 5

(48 + 12) 4
(120 + 60} + 2
(660 - 4) + 14

42 = (6 + 2)

38 + (24 + 4)
180 + (60 + 30)

92 =~ (160 =+ 40)
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1. (40+2) = 5 -

2. (456+3) + 5
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3. (48 +4) + 6

4. (80 +10) + 4

I

CLLLULEEEL

5. (820+ 80) + 2 =

6. (650 +5) + 138

7. 51 =(9 + 3)

I

8. 84 + (21 + 3) =
9. 320 + (80 = 20) =
10. 90 = (200 + 40) =
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(60 + 3)
(60 = 3) 4

(72 +4) + 6

(60 +-10) = 8
(540 + 90) + 8

(720 + B) 20
57 = (9 + 3)

96 =+ (64 + 8)
120 + (60 + 20)

60)
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